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e Do not pock at the exam until you are told to begin. You will have approximately 50 minutes to complete the
oxain.

e Don't spend too much time on any one problem. Solve ‘easy’ problems first. Go for partial credit!

e HINT: Focus on the concepts involved in the problem, the tools to be used, and the set-up. If you get these
right, all that's left is algebra.

¢ Have Fun!
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1) A twin-lead conductor is made from two long, straight conducting wires - each o@ that lie in
the z, z-plane, parallel to and symmetric about the 2-axis. The wires are separated by a center-to-center
heir surface into and out of the plane of the page, as

distance d and carry a uniform electrical current I on t
shown.

Find the magnitude and direction of the magnetic field at all points along that z-axis
a wire. Sketch the magnetic field lines produced by the wires on the

e la) (15 points)
accurately) represent (qualitatively)

that are not physically inside of
diagram above. For full credit, the field lines you draw should (

the magnetic field strength at each point.

0{ ) sl — 5:r 'S “QI 1T
Aereo Ba Al bl phAnl, AT
ohedy BTy Ztrd)* Ld )
1
o <<l ~“>‘r pel o Mo
T3] AUEX)
d - 51 ...‘_\. N - l*'i I’c:r
X<-2 b= A B Bl= A g AT
> b Bgmyy U EY) S)
- T
X?"d' 1 - Uﬁ._',';J 1sf ~
- \Bi'i&"x-?ﬁ)‘fﬁ >
. v//‘x dﬁ«‘u—%ﬁfﬁ?
7Y



* 1b) (10 points)
described by wids,

hizj<d/2 4

Find the flux of th

€ magnetic field through the rectangular region between the wires
and length D.

Q%mme’f%

% éz: 2&8\

20D, (g-a)a
EB""%’%‘%’
fBJ B A 4
(uol ,ﬁ,)

ﬂd’“‘) o ) 2

OB de@z. ,f“@/@t@[__{fw__]g,
L (gt ol )] // 1
= uo

e 1c) (5 points)
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Under what approximation(s) will the field 1‘{'1 the regions described by |z| > d/2 +a
be negligible? Assuming this (these) condition(s) are valid, find the inductance per unit length of this
cable.
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e 2a) (10 points) A circular, conducting loop of radius R lies in the z,y-plane, centered on the origin.
A current I flows through the loop such that at £ = +R, the current is headed in the +7 direction, and
at T = —R the current is headed in the —j direction. Derive the resultant magnetic field (magnitude

and direction) at every point along the z-axis.
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e 2b) (10 points) Let’s replace the loop with an infinitesimally-thin, uniform ring of electric charge that
extends from 7 to 7 + dr. If the surface charge-density on the ring is given by o and the ring rotates
about the z-axis with a constant angular velocity & (recall, the direction of & is obtained by using the
right-hand rule with the physical motion of points on the ring) find the magnitude and direction of the

(infinitesimal) magnetic field produced at every point along the z-axis.
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* 2c) (10 points)  Now lets replace the thin ring of part b with a washer that extends from r = a to
7 =b. Charge is distributed over the washer with a surface charge density

) = 2qr?
o(r) = 7 (b* — al)

and it rotates with a constant angular velocity &. Find the magnitude and direction of the n‘mgnct;ic
field produced at every point on the z-axis. (The answer is not pretty, but it is pretty doable if you're
patient).

=

o

S

N

> .
‘-71 B
vi 9 4
<

"‘T

(AN



Ty

L L gt
(- ) T i

o B

| | =

3) An inductor (L) and a resistor (K) are connected in weries across a source of atternating EMF (£(t) =
Emaz 0w (1) ). Yors masy dos the following caleulations in comphex wpace, but keep in mind, the final answers

st all be real,
e 3a) (10 points) What is the impedance of LR combination? What is the amplitude of the current
y that passs through it? Does the current through this impedance lead or lag the voltage across it? By
N hew mnch?
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e 3b) (10 points) What is the voltage amplitude across the resistor? What is the voltage amplitude
acroms the inductor? Will the sum of these voltage amplitndes equal the voltage amplitude of the
source? Fixplain.
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3c)' (%D points)  For a lot of good reasons, it is often desirable to present the source with a purey
resistive load. We can tune-out the reactance in the LR network by adding a capacitor in parallel with
it (across the two dots in the circuit). What value should the capacitor have? What will be the value
of the impedance seen by the source? Will current through this new LRC combination oo ol the
voltage across it? By how much?

tune ot reactanez z=R

Zig and ¢ pre Farcd/o{ 2V = aVe

L (_X_)ip/, U L
T j B [ Ripe] Xo) Zip
e N
v =ShoF We+—5
AT = 3, P2 ?1// wl+R
A > ‘ny/ : L+ ”“L/Qy
N LR pRC (L
v 12 = o R RY
i z‘;’lﬂ o - e ]
| T [] - __fw,.,:L_—‘__-r‘_; —
| A PR
z=P .
A ‘ | {T-CI ol dnne “!/H'I
“ prclan | Aa |



